p_vaddr = 0xc000002500000000 p_filesz = 0x10000000 p memsz = Ox10000000 E1f
header: p_type = 1, p_offset = 0x24f0000000 p paddr = @

X2410000000 p_vaddr = 0xc0000024100

Sep 2 13:39:07 hostl kdump: p_memsz = 0x10000000 E1f header: p_type = 1,
p_offset = 0x24e0000000 p_paddr = 0x24e0000000 p vaddr = OxCOPPPR24c0000000
p_filesz = 0x10000000 p_memsz = 0x10000000 E1lf header: p_type = 1, p offset =
0x24d0000000 p_paddr = 0x24d0000000 p_vaddr = OxcO00024d0000000 p filesz =
0x10000000 p_memsz = Ox10000000 E1f header: p_type = 1, p_offset = 0x24c0000000
p_paddr = 0x24c0000000 p_vaddr = 0xc0000024c0000000 p filesz = 0x10000000 p_memsz
= 0x10000000 E1f header: p_type = 1, p_offset = 0x24b0000000 p paddr =
0x24b0000000 p_vaddr = Oxc0000024bORROR0O p filesz = Ox10000000 p_memsz =
0x10000000 E1f header: p_type = 1, p_offset = 0x2420000000 p paddr = 0x24a0000000
p_vaddr = 0xc0000024a0000000 p_filesz = 0x10000000 p memsz = Ox10000000 E1f
header: p_type = 1, p_offset = 0x2490000000 p_paddr = 0x2490000000 p_vaddr =
0xC000002490000000 p_filesz = Ox10000000 p memsz = Ox10000000 E1f header: p_type
= 1, p_offset = 0x2480000000 p_paddr = 0x2480000000 p vaddr =

0xC000002480000000 p filesz = 0x100

Sep 2 13:39:07 hostl kdump: E1f header: p_type = 1, p_offset = 0x2470000000
p_paddr = 0x2470000000 p_vaddr = 0xc000002470000000 p filesz = Ox10000000 p_memsz
= 0x10000000 E1f header: p_type = 1, p_offset = 0x2460000000 p paddr =
0x2460000000 p_vaddr = 0xc000002460000000 p filesz = Ox10000000 p_memsz =
0x10000000 E1f header: p_type = 1, p_offset = 0x2450000000 p paddr = 0x2450000000
p_vaddr = 0xc000002450000000 p_filesz = 0x10000000 p memsz = Ox10000000 E1f
header: p_type = 1, p_offset = 0x2440000000 p_paddr = 0x2440000000 p_vaddr =
0xC000002440000000 p_filesz = 0x10000000 p_memsz = 0x10000000 E1f header: p_type
= 1, p_offset = 0x2430000000 p_paddr = 0x2430000000 p_vaddr = Oxc0P0002430000000
p_filesz = 0x10000000 p_memsz = 0x10000000 E1f header: p_type = 1, p_offset =
0x2420000000 p_paddr = 0x2420000000 p_vaddr = 0xc000002420000000 p filesz =
0x10000000 p_memsz = Ox10000000 E1f header: p_type = 1, p _offset = 0x2410000000
p_paddr = 0x2410000000 p_vaddr = 0xc000002410000000 p_

filesz = 0x10000000 p memsz = 0x100

Sep 2 13:39:07 hostl kdump: 1, p_offset = 0x2400000000 p paddr = 0x2400000000
p_vaddr = 0xc000002400000000 p_filesz = 0x10000000 p memsz = Ox10000000 E1f
header: p_type = 1, p_offset = 0x23f0000000 p _paddr = 0x23f0000000 p_vaddr =
0xC0000023f0000000 p_filesz = 0x10000000 p_memsz = Ox10000000 E1f header: p_type
= 1, p_offset = 0x23e0000000 p_paddr = 0x23e0000000 p vaddr = OxC0000023e0000000
p_filesz = 0x10000000 p_memsz = ©x10000000 E1f header: p_type = 1, p_offset =
0x23d0000000 p_paddr = 0x23de000000 p_vaddr = Oxc0P0023d0000000 p filesz =
0x10000000 p_memsz = Ox10000000 E1f header: p_type = 1, p_offset = 0x23c0000000
p_paddr = 0x23c0000000 p_vaddr = 0xc0000023c0000000 p filesz = 0x10000000 p_memsz
= 0x10000000 E1f header: p_type = 1, p_offset = 0x23b0000000 p_paddr =
0x23b00000R0 p_vaddr = OxcOOVV23bOA0ORRS p_filesz = Ox10000000 p memsz =
0x10000000 E1f header: p_type = 1, p_offset = 0x2320000000 p paddr = 0x23a0000000
p_vaddr = 0xc0000023a0000000 p_filesz = 0x10000000 p

_Mmemsz = Ox10000000 E1lf header: p_t

Sep 2 13:39:07 hostl kdump: 0x2390000000 p_paddr = ©x2390000000 p_vaddr =
0xC000002390000000 p_filesz = Ox10000000 p memsz = Ox10000000 E1f header: p_type
= 1, p_offset = 0x2380000000 p_paddr = 0x2380000000 p_vaddr = OxC000002380000000
p_filesz = 0x10000000 p_memsz = 0x10000000 E1f header: p_type = 1, p_offset =



